BK S:t Erik
Helgrally (dag) 2020-01-03

Partavling, 32 bord, 63 par. Antal brickor: 24. Medel: 720.1. Frirond (*) ger egen procent.

Plac Par Poéng % Namn MID Klubb
1 62 1061.0 73.68 Anders Bjorkman - Par Ol-Mars 56099 5342 BK S:t Erik
2 61 975.0 67.71 PerFlerén - Andreas Abragi 63187 58640 BK S:tErik
3 92 965.7 67.06 Lilly Sturesson - Tore Andersson 2308 49895 Sthims-Polisens BS - Stureby BK
4 49 9240 64.17 Jan Larsson - Lars Ekenlov 5220 8648 BK S:tErik
5 8 856.0 59.44 Johan Séfsten - Peter Flodgvist 35452 14778 Uppsalabridgen - BK S:t Erik
6 6 847.0 58.82 Fredrik Sandvall - Marianne Nilsson 25808 9163 BK S:t Erik
7 21 841.0 58.40 Lennart Rehle - Eva Klingspor 6599 26851 BK S:tErik
8 90 838.9 58.25 Eva Wiklander - Ingrid Linnarsson 17165 23525 BK S:tErik
9 87 835.0 57.99 Olle Sandstrém - Hanna Willart 88848 52615 Norsjo BK - BK S:t Erik
10 50 821.0 57.01 Ann-Christine Brask - Eva Blomberg 82567 83300 BK S:t Erik
11 24 815.0 56.60 Birgitta Kare - Birgitta Ternblad 6776 1981 Sthims-Polisens BS - BK S:t Erik
12 2 804.0 55.83 Ulla-Britt Olsson - Susan Kalman Karlsson 32894 93880 BK S:t Erik
13 26 802.0 55.69 Ellis Wohlner - Per Skoglund 90611 9061 BK S:t Erik
14 66 798.0 55.42 Agneta Jakobsson - Eva Menzing 57687 57693 BK S:t Erik
15 11 796.0 55.28 Michael Jungstedt - Yvonne Dyrefors 9100 4609 BK S:t Erik
16 51 792.0 55.00 LarsJaneskold - Kenneth Janeskold 89544 67674 BK S:tErik
17 27 789.0 54.79 Klas Anggard - Evelyn Jakobsson 40827 58019 BK S:tErik
18 42 771.0 53.54 Rune Bohlin - Ulla Bohlin 52803 83079 BK S:t Erik
19 63 770.0 53.47 Tom Slettengren - Martina Thornton 55226 54646 BK S:t Erik
20 65 766.0 53.19 Claes Andreasson - Bjérn Rahmqvist 8837 13330 BK S:tErik
21 91 7634 53.02 Riitta Wennberg- GOsta Bengtsar 33280 33443 BK S:tErik - Alvik BC
22 4 758.0 52.64 Sofia Ryman - Asa Trollborg 78200 61414 BK S:tErik
23 43 753.0 52.29 Peter Lindskog - Steffen Lamm 65792 +3832 BK S:tErik
24 31 750.0 52.08 Olle Fahlén - Tomas Clason 30826 30827 BK S:t Erik
25 52 7410 5146 Karin Dufwa - Anders Bodecker 41938 47441 BK S:tErik
26 89 739.4 51.35 Peter Friberg - Torbjorn Graslund 24487 83473 BK S:tErik
27 7 739.0 51.32 Jan Christiernin - Folke Ljungstrom 50692 9128 BK S:t Erik
28 29 7320 50.83 Maj-Lis Larsson - Borje Larsson 26293 85520 BK S:t Erik
29 22 723.0 50.21 Kerstin Jakobsson - Charlotte Lundqvist 83063 65793 BK S:tErik
30 23 721.0 50.07 Erling Ribbing - H&kan Olofsson 81050 64140 BK S:tErik
31 73 717.0 49.79 Eva Ekstedt - Erene Bergman 65024 90228 BK S:tErik
32 41 716.0 49.72 Lottie Neunmuller - Elisabet Lennbom 47200 52818 BK S:t Erik
33 3 712.0 49.44 Ann-Britt Carlén - Marianne Primér 88227 14791 BK S:t Erik
33 48 712.0 49.44 Anita Sjostedt - Berndt Kvist 56168 57107 BK S:t Erik
35 76 711.0 49.38 Hakan Fahlstrom - Charlotte von Segebaden 19123 93382 Vimmerby BK - BK S:t Erik
36 85 704.0 48.89 Jan-Olof Hegethorn - Mi Andrén 12033 90168 BK S:t Erik - Norrorts Bridge
37 46 703.0 48.82 Christina Martin - Anders Hammarstrom 59973 85774 BK S:t Erik - Améls BS
38 68 702.0 48.75 Jane Elner - Nils Wikstad 82304 93666 BK S:tErik
39 1 700.0 48.61 Anna Carin Akerholm - Birgitta Rittner 57544 57815 BK S:t Erik
40 77 699.0 4854 Goran Ryman - Ewa Ryman 21622 50717 BK S:t Erik
41 5 689.0 47.85 Ola Weinberg - Yvonne Flodgvist 94278 14805 BK S:tErik
42 86 687.0 47.71 Anders Johansson - Ann-Margret Johansson 10188 13810 BK S:tErik
43 72 6780 47.08 Lars-Goran Lund - Eva Lund 56975 56974 BK S:tErik
44 45 675.0 46.88 Lennart Ahlgren - Ann Jansson 52665 17593 BK S:t Erik
45 32 665.0 46.18 Agneta Aicardi-Holmstrom - Mona Hellingh 50831 22782 Vastra Bjare BK - BK S:t Erik
46 30 657.0 45.63 Kiell Pettersson - Tomoko Hansen 1454 84545 BK S:tErik
47 78 639.0 44.38 Karl-Henrik Linnhag - Christer Ericsson 35533 38986 BK S:tErik
48 81 637.7 44.29 Anders Oldinger - Curt Wallin 35876 35528 BK S:t Erik
49 75 628.0 43.61 Gunvor Ljung-Elthammar - Ann-Marie Bogren 65936 85792 BK S:t Erik
50 84 627.4 4357 OlaTylstedt - Mats Lindblom 64190 64191 BK S:tErik
51 25 624.0 43.33 Saga Ekelin - Lars Stenberg 65505 65504 BK S:tErik
52 71 618.0 42.92 Marianne Larsson - Gunnar Andersson 44637 47079 BK S:tErik
53 10 617.0 42.85 Birgitta Stavenow - Anna Taube von Koch 55434 60193 BK S:t Erik
54 88 613.0 4257 Irene Rune - Erik Mj6berg 85381 32761 BK TvaEss
55 67 609.0 42.29 Marie-Louise Andersson - Gunilla Rosell 14766 13867 BK S:tErik
56 44 591.0 41.04 Hans Hultgvist - Maud Wedin 2199 30160 BK S:tErik
57 74 586.0 40.69 Neta Falk - Paulina Sundin 62304 54971 Liding6 FLP
58 12 577.0 40.07 Martin Berne - Kerstin Berne 53136 53137 BK S:tErik
59 64 563.0 39.10 Ethel Sabelstrom - Carita Harring 47840 62156 Lidingo FLP
60 9 545.0 37.85 Britt Nylinder - Ann Ryberg 47404 44358 BK S:tErik
61 28 521.0 36.18 Dag Ehrenpreis - Anna Karin Osterberg 55057 52763 BK S:t Erik
62 82 512.0 3556 Per Christoffersson - Caisa Wiezell 55483 20400 BK S:t Erik
63 47 441.0 30.63 Margareta Andersson Hartwig - Nina Palm Léfwall 63916 63917 BK S:tErik
1 a7 2 48 3 4« EKn
Nord v74 Ost v E8762 Syd v K8742
Ingen ¢ E873 NS + KD763 ov ¢ 8743
#EKNn9873 #ED #KKn
D642 & EKn5 «E104 & KKn9653 47654 410832
vKn10953 v 82 vKn10943 vD vEKn106 v D93
+ Kn654 + KD102 ¢ 1042 +98 + K5 + Kn962
*- *KD64 *84 #KKn107 #ED7 %103
4 K10983 4D72 ~KD9
v EKD6 vK5 v5
+9 ¢ EKn5 ¢+ ED10
#1052 #96532 £986542
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
90 85 4vyDV-3 a7 500 60.0 0.0|50 45 3NS= vJ 600 60.0 00|61 71 44DO-6 v5 1700 60.0 0.0
67 76 3v V-4 *A 200 58.0 20|48 46 44 O-3 vK 150 57.0 3.0[(50 45 3NS+1 «4 430 58.0 20
66 74 INN+3 #K 180 56.0 4.0(87 92 4¢ N+1 ¢9 150 570 30| 8 6 3NN= vQ 400 56.0 4.0
7 12 3v O-3 T 150 51.0 9.0(30 25 3v N= +9 140 540 6.0(66 74 2NS= vlJ 120 540 6.0
68 78 2v O-3 aT 150 51.0 9.0(22 31 4¢ N= vQ 130 51.0 90| 7 12 24 S+1 vT 110 46.0 14.0
88 86 3v V-3 a7 150 51.0 9.0|42 51 3¢ N+1 vQ 130 51.0 9.0|24 23 24 S+1 a5 110 46.0 14.0
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89 81 INN+2 oK 150 51.0 90| 7 12 3¢ N= vQ 110 46.0 14.0|29 21 3&S= vA 110 46.0 14.0
10 5 24 S+1 v] 140 46.0 14.0|24 23 3¢ N= 45 110 46.0 14.0|42 51 24 S+1 &7 110 46.0 14.0
4 3 34S+1 v] 130 42.0 18.0(49 41 3¢ N= vQ 110 46.0 14.0|72 65 34 S= a7 110 46.0 14.0
8 6 24 S+2 vJ] 130 420 18.0| 9 1 44 0-2 &2 100 39.0 21.0(88 86 24 S+1 45 110 46.0 14.0
28 26 3« N+1 ¢K 130 42.0 18.0(29 21 34 O-2 vK 100 39.0 21.0(90 85 24 S+1 45 110 46.0 14.0
48 46 2NN = &6 120 38.0 220(61 71 34aDO-1 v¥K 100 39.0 21.0(48 46 1v V-1 4 A 100 38.0 22.0
30 25 2y N= + K 110 340 26.0(90 85 44 O-2 vK 100 39.0 21.0(73 62 1vy N= &T 80 36.0 24.0
50 45 2v N= + K 110 340 26.0(10 5 340-1 &2 50 310 290 4 3 2¢ N-1 43 -50 26.0 34.0
61 71 2v N= + K 110 340 26.0(27 32 34 O-1 &5 50 310 29.0(10 5 2¢ N-1 3 -50 26.0 34.0
2 11 3NO-2 vA 100 28.0 32.0(68 78 34 O-1 vK 50 31.0 29.0(22 31 2NS-1 a7 -50 26.0 34.0
49 41 2v O-2 +9 100 28.0 32.0(72 65 34 O-1 &9 50 31.0 29.0(27 32 2¢ N-1 43 -50 26.0 34.0
64 77 2v V-2 &A 100 280 320 4 3 4y N-1 &T -100 23.0 37.0(28 26 2¢ N-1 oT -50 26.0 34.0
24 23 2¢ V-1 a7 50 210 39.0|64 77 3#S-1 4 A -100 23.0 37.0(49 41 3NN-1 +6 -50 26.0 34.0
47 52 2NO-1 vA 50 210 39.0(66 74 3v N-1 +9 -100 23.0 37.0(68 78 3NS-1 a7 -50 26.0 34.0
73 62 2v O-1 +9 50 21.0 39.0(82 91 5¢ N-1 vQ -100 23.0 37.0(75 63 1lv N-1 &T -50 26.0 34.0
82 91 2NO-1 vQ 50 21.0 39.0(73 62 24 O= &2 -110 16.0 44.0(89 81 3NN-1 vQ -50 26.0 34.0
9 1 24S-1 v] -50 12.0 48.0|75 63 24 O= *A -110 16.0 44.0( 2 11 2y N-2 &T -100 12.0 48.0
27 32 44 N-1 v8 -50 12.0 48.0|88 86 24 O= vK -110 16.0 44.0(30 25 3NN-2 vQ -100 12.0 48.0
29 21 24 S-1 vJ] -50 12.0 48.0|47 52 34 O= &5 -140 12.0 48.0(44 43 3NN-2 v6 -100 12.0 48.0
72 65 24 S-1 +5 -50 12.0 48.0| 2 11 44 S-2 s A -200 7.0 53.0|47 52 2NN-2 +6 -100 12.0 48.0
75 63 24 S-1 vJ] -50 12.0 48.0|44 43 3vDN-1 K -200 7.0 53.0|87 92 3NN-2 43 -100 12.0 48.0
22 31 34 S-2 +5 -100 5.0 55.0|67 76 3¢ N-2 vQ -200 7.0 53.0|67 76 1v V+1 +8 -110 6.0 54.0
44 43 54D N-1 &A -100 5.0 55.0(89 81 4v N-2 +9 -200 7.0 530| 9 1 3NN-3 v3 -150 2.0 58.0
42 51 2N O + vA -150 1.0 59.0|28 26 5¢ N-3 vQ -300 20 58064 77 2v N-3 &T -150 2.0 58.0
87 92 3NN-3 ¢+ K -150 1.0 59.0| 8 6 34DO= &2 -530 0.0 60.0/82 91 3NN-3 vQ -150 2.0 58.0
84 - 26.1 84 - 26.1 84 - 26.1
4 « KKn93 5 # 98765 6 + 96
Vast vKD Nord vE84 Ost v D943
Alla 49832 NS 4972 ov ¢+ E10
D92 64 #KD1087
10872 « D54 & KDKn 410432 « EKDKn #8752
v74 v 963 vKDKn752 10963 vK1062 ¢75
¢+ Kn ¢ E654 *4 ¢ DKn + K95 + D642
#1076543 #EKKn #1085 #EKKn #Kn3 #E52
«E6 +E #1043
v EKn10852 v- v EKn8
¢+ KD107 ¢ EK108653 ¢ Kn873
&8 #D9732 *964
Par Kontr Ut Res Poéng Par Kontr Ut Res Poang Par Kontr Ut Res Poang
61 78 4v S+2 +J 680 60.0 00|81 87 4¢DS+1 4K 910 60.0 0.0|41 47 4e V-2 ¢+ A 200 60.0 0.0
9 2 4v S+l +J 650 51.0 9.0(30 26 5¢DS= ¥vK 750 520 8021 27 34 0-1 &6 100 57.0 3.0
23 31 4v S+1 +J 650 510 9.0(45 44 5¢DS= K 750 520 8.0|85 84 44 V-1 &K 100 57.0 3.0
41 47 4v S+1 +J 650 510 9.0(62 72 54DS= &K 750 520 80| 3 11 3&N-1 v7 -50 540 6.0
48 52 4v S+1 +J 650 510 90|73 66 5¢DS= ¥vK 750 520 80| 1 7 INV= &K -90 43.0 17.0
50 46 4v S+1 +J 650 510 90|76 64 5¢DS= &K 750 520 80| 5 4 INV= &7 -90 43.0 17.0
62 72 4v S+1 +J 650 510 9.0(85 84 5¢DS= &K 750 520 80|10 6 INV= &K -90 43.0 17.0
65 71 4v S+1 +J 650 51.0 9.0(88 92 3NDS= ¥vK 750 520 80|23 31 INV= &K -90 43.0 17.0
85 84 4v S+1 +J 650 510 90| 5 4 5¢ S-= s K 600 40.0 20.0|28 32 INV= &K -90 43.0 17.0
21 27 4v S= +J 620 39.0 21.0| 8 12 5¢ S= &K 600 40.0 20.0|29 22 INV= &K -90 43.0 17.0
45 44 49 S= +J 620 39.0 21.0|23 31 5¢ S= vK 600 40.0 20.0|62 72 INV= &K -90 43.0 17.0
49 42 4v S= +J 620 39.0 21.0|49 42 5¢ S= vK 600 40.0 20.0|67 75 INV= &K -90 43.0 17.0
89 82 4v S= +J 620 39.0 21.0|61 78 5¢ S= &K 600 40.0 20.0|73 66 INV= &K -90 43.0 17.0
1 7 2vS+3 +J 200 27.0 33.0|65 71 5v V-2 2 100 320 28.0(89 82 INV= &K -90 43.0 17.0
8 12 2v S+3 +J 200 270 33.0(74 63 5vDV-1 +¢9 100 320 28.0|25 24 2v S-2 4 A -100 27.0 33.0
10 6 1vS+4  +J 200 27.0 33.0(89 82 4vyDV-1 6 100 32.0 28.0(48 52 3& N-2 v7 -100 27.0 33.0
29 22 2v S+3 +J 200 27.0 33.0(21 27 4v V-1 &6 50 26.0 34.0(50 46 2y N-2 &2 -100 27.0 33.0
30 26 2v S+3 +J 200 27.0 33.0(29 22 5v0O-1 *A 50 260 340|65 71 3#S-2 s A -100 27.0 33.0
76 64 2v S+3 +J 200 27.0 33.0|41 47 4v V-1 +9 50 26.0 340|74 63 2v S-2 s A -100 27.0 33.0
81 87 3vy N+2 &A 200 27.0 330| 3 11 64 S-1 4K -100 22.0 38.0(76 64 3& N-2 +Q -100 27.0 33.0
90 86 3v S+2 &4 200 270 330 1 7 3vV+1 2 -170  18.0 42.0| 8 12 INV+1 &K -120 15.0 45.0
5 4 2vS+2 +J 170 16.0 44.0(25 24 3v V+1 +9 -170  18.0 42.0(43 51 INV+1 &K -120 15.0 45.0
74 63 29y N+2 ¢ 170 16.0 44.0(43 51 3v V+1 2 -170  18.0 42.0(45 44 1INV +1 &K -120  15.0 45.0
88 92 3v S+1 +J 170 16.0 44.0|48 52 6¢DS-1 &K -200 14.0 46.0(49 42 INV+1 &K -120 15.0 45.0
3 11 2v S+l +J 140 80 520| 9 2 4v V= 2 -420 6.0 54.0|81 87 INV+1 &K -120 15.0 45.0
25 24 2v S+1 +J 140 80 520|10 6 4v V= 2 -420 6.0 54.0|88 92 2NV = v3 -120  15.0 45.0
28 32 1lv S+2 +J 140 8.0 52.0(28 32 4y V= 2 -420 6.0 540| 9 2 24 V+1l &K -140 8.0 52.0
67 75 2v S+1 +J 140 8.0 52.0|50 46 4v V= 2 -420 6.0 54.0|30 26 4v N-3 48 -150 4.0 56.0
73 66 3v S= +J 140 8.0 52.0|67 75 4v V= +9 -420 6.0 54.0|68 77 1INV +2 &K -150 4.0 56.0
43 51 4v S-1 +J -100 1.0 59.0|77 68 4v V= 2 -420 6.0 54.0|90 86 1INV +2 &K -150 4.0 56.0
68 77 5v S-1 +J -100 1.0 59.0|90 86 4y V= 2 -420 6.0 54.0|61 78 44 V= ¢ A -620 0.0 60.0
- 91 318| - 91 318 - 91 318
7 4 K98 8 « E872 9 « E107
Syd v742 Vast v EK8 Nord v5
Alla + 1065 Ingen + D108 ov + EKDKN9873
#Kn854 &#Kn97 &Kn
« E53 » Kn10762 49 « K3 « D62 # 843
vD v Kn1096 v 7542 v DKn1093 vEDKn10 vK96432
¢ KKn94 ¢ D8 492 + EK4 2 +5
#EKD109 #73 #ED8654 #K32 #E9643 #1085
«D4 « DKn10654  KKn95
v EK853 v6 v 87
¢E732 ¢ Kn7653 + 1064
*62 +10 &#KD72
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
61 77 34 V-3 v2 300 60.0 00(21 32 44DN= +¢A 590 500 10|11 4 44 S= 2 420 57.0 3.0
9 3 44 0-2 vA 200 58.0 20|90 87 44DS= v7 590 50.0 1.0(22 28 5¢ N+1 &5 420 57.0 3.0
112 3&V-1 v2 100 44.0 16.0|42 48 44 N= *A 420 53.0 7.0[(51 44 5¢ N+1 &8 420 57.0 3.0
2 8 44 0-1 vA 100 44.0 16.0|46 45 44 N= ¢A 420 53.0 7.0[75 64 5¢ N+1 &T 420 57.0 3.0
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6 5 440-1 vA 100 44.0 16.0 50 47 44 N= *A 420 530 70| 2 8 5¢ N= v6 400 36.0 24.0
21 32 3+ V-1 v2 100 440 16.0|65 78 44 S= v7 420 530 70| 6 5 5¢S= *A 400 36.0 24.0
26 25 44 O-1 vA 100 440 16.0(82 88 3« N+1 vQ 170 48.0 12.0({10 7 5¢ N= v2 400 36.0 24.0
30 27 34 V-1 v2 100 440 16.0(26 25 24 S+1  +9 140 45.0 15.0(21 32 5¢ N= v6 400 36.0 24.0
49 43 34 V-1 v2 100 440 16.0(62 71 34 S= *A 140 45.0 15.0(26 25 5¢ N= &T 400 36.0 24.0
50 47 3+ V-1 v2 100 440 16.0(63 73 2¢ N+2 vQ 130 42.0 18.0(29 23 5¢ N= v3 400 36.0 24.0
62 71 44 O-1 vA 100 44.0 16.0(49 43 24 S= +9 110 40.0 20.0(31 24 5¢ N= v3 400 36.0 24.0
65 78 44 V-1 vK 100 440 16.0(61 77 54DV-1 ©vA 100 37.0 23.0|41 52 5¢ N= &5 400 36.0 24.0
68 76 34 O-1 vA 100 440 16.0(86 85 5vDO-1 &T 100 37.0 23.0(46 45 5¢ N= &5 400 36.0 24.0
75 64 34 V-1 v7 100 44.0 16.0(31 24 44 S-1 *A -50 34.0 26.0|50 47 5¢ N= v2 400 36.0 24.0
86 85 3# V-1 v2 100 440 160 1 12 44 N-2 ¢A -100 28.0 32.0(63 73 5¢ N= &5 400 36.0 24.0
22 28 2%V = v7 90 28.0 32.0|10 7 44DN-1 +A -100 28.0 32.0(65 78 5¢ S= &A 400 36.0 24.0
63 73 2# V= v7 90 28.0 320|11 4 54 S-2 *A -100 28.0 32.0(66 72 5¢ N= +5 400 36.0 24.0
66 72 2# V= v2 -90 28.0 32.0(30 27 44 N-2 ¢A -100 28.0 32.0(74 67 5¢ N= &T 400 36.0 24.0
29 23 24 V+1l w7 -110 21.0 39.0(74 67 44 N-2 ¢ A -100 28.0 32.0(82 88 5¢ N= 8 400 36.0 24.0
42 48 34 V= v2 -110 21.0 39.0({66 72 INO+2 «4Q -150 22.0 38.0(90 87 5¢ S= vA 400 36.0 24.0
46 45 24V +1 w7 -110 21.0 39.0({68 76 3v O+1 4Q -170  20.0 40.0(91 84 5¢ N= 5 400 36.0 24.0
74 67 24 V= v7 -110 21.0 39.0(22 28 44DN-2 +A -300 17.0 43.0(62 71 24DV-1 +¢A 200 18.0 42.0
82 88 2NV= v2 -120 16.0 44.0(41 52 44DN-2 +A -300 17.0 43.0(42 48 24 N+2 vA 170 15.0 45.0
10 7 3&«V+l v2 -130 14.0 46.0(29 23 3NO= +Q -400 14.0 46.0(68 76 3¢ N+3  &T 170 15.0 45.0
51 44 34 O= vA -140 12.0 480| 6 5 4vO= +Q -420 10.0 50.0 (86 85 4¢ N= v6 130 12.0 48.0
11 4 24 O+2 A 170 9.0 51.0( 9 3 4vO-= &T -420 10.0 50.0f 9 3 3NS-1 vT -50 9.0 51.0
41 52 24 O+2 6 170 9.0 51.0(75 64 4v O= &T -420 10.0 50.0(30 27 3NS-1 vQ -50 9.0 51.0
91 84 2v S-2 *A 200 6.0 540(81 92 3NO+1 4Q -430 5.0 550 1 12 6¢DS-1 #A -100 5.0 55.0
31 24 3NO= vA -600 3.0 57.0(91 84 3NO+1 T -430 5.0 55.0(81 92 74 N-2 +5 -100 5.0 55.0
90 87 3NO= vA -600 3.0 570 2 8 4vDO= T -590 1.0 59.0(49 43 3NN-3 v3 -150 2.0 58.0
81 92 44 O= vA -620 0.0 60.0(51 44 4vDO= &T -590 1.0 59.0|61 77 6NDS-4 YA -800 0.0 60.0
89 - 30.8 89 - 30.8 89 - 30.8
10 « EK763 11 « 10976 12 & Kn5
Ost v K64 Syd vED Vast v KKn9872
Alla ¢ 64 Ingen +E8 NS 2
#1076 #95432 #D983
#1085 « DKn4 3 « K85 #9764 «D1082
vDKn10985 vE32 vKKn1086 v 7432 vD104 v E65
¢ ED3 +1072 ¢ 10964 ¢ K32 73 + EK84
3 «D854 «E108 »D76 #Kn1072 #K6
92 « EDKn42 » EK3
v7 v 95 v3
¢ KKn985 ¢ DKn75 ¢ DKn10965
#EKKn92 #KKn #E54
Par Kontr ut Res Poang Par Kontr ut Res Poéng Par Kontr Ut Res Poéang
11 5 44 N= vA 620 60.0 00|11 5 44 S+l +6 450 50.0 10.0(11 5 3¢DS= 46 670 60.0 0.0
92 82 4vDV-2 4A 500 58.0 20|23 21 44 S+1 T 450 50.0 10.0|27 26 3NN= *2 600 58.0 20
77 65 24 N+1 vA 140 56.0 4.0(29 24 44 S+1  +T 450 50.0 10.0|62 78 2NDO-3 +Q 500 56.0 4.0
27 26 3#S-= oT 110 53.0 7.0(30 28 44 S+1 T 450 50.0 10.0(30 28 3NO -6 +Q 300 540 6.0
61 76 3¢ S= 3 110 53.0 7.0|49 44 44 S+1 v8 450 50.0 10.0|50 48 3NO-4 *Q 200 51.0 9.0
23 21 3v V-1 aA 100 48.0 12.0(50 48 44 S+1 *T 450 50.0 10.0|75 68 2N O -4 *Q 200 51.0 9.0
29 24 4v V-1 oA 100 48.0 12.0(61 76 44 S+1 v6 450 50.0 100 3 1 2v N+2 ¢A 170 47.0 13.0
47 46 3v V-1 oA 100 48.0 12.0(62 78 44 S+1 v6 450 50.0 10.0(67 73 2v N+2 ¢A 170 47.0 13.0
9 4 4¢S-1 &3 -100 36.0 24.0(66 71 44 S+1 vT 450 50.0 10.0|87 86 3NV-3 a] 150 43.0 17.0
31 25 44 S-1 vQ -100 36.0 24.0(91 85 44 S+1 +6 450 50.0 10.0(92 82 24 O-3 v3 150 43.0 17.0
32 22 34 N-1 v2 -100 36.0 24.0(92 82 44 S+1 3 450 50.0 10.0(49 44 2v N+1 K 140 39.0 21.0
43 41 3NN-1 v2 -100 36.0 240| 7 6 44 S= 3 420 28.0 32.0(90 88 2v N+1 ¢A 140 39.0 21.0
49 44 34 S-1 vQ -100 36.0 240 9 4 44 S= v8 420 28.0 320|129 24 2¢ N+1 &8 110 32.0 28.0
50 48 3NN-1 vA -100 36.0 24.0 (27 26 44 S= *A 420 28.0 320|132 22 2v N= ¢ A 110 32.0 28.0
87 86 44 N-1 vA -100 36.0 24.0(31 25 44 S= v6 420 28.0 32.0|51 45 3¢ S= a4 110 32.0 28.0
89 84 3NN-1 vA -100 36.0 24.0(32 22 44 S= vJ 420 28.0 32.0(66 71 2¢ N+1 ¢4 110 32.0 28.0
90 88 3NN-1 vA -100 36.0 24.0(43 41 44 S= v6 420 28.0 32.0|89 84 3¢ N= a2 110 32.0 28.0
10 8 2v V= aA -110 26.0 34.0(47 46 44 S= oT 420 28.0 32012 2 24 V-2 *2 100 24.0 36.0
51 45 3v V= oA -140 22.0 38.0|51 45 44 S= v6 420 28.0 32.0(23 21 34 V-2 *2 100 24.0 36.0
75 68 2v V+1 6 -140 22.0 38.0(63 72 44 S= vT 420 28.0 32.0|31 25 44DV-1 ¢2 100 24.0 36.0
91 85 3v V= aA -140 22.0 38.0(64 74 44 S= oT 420 28.0 32.0|52 42 2¢ S= v4 90 20.0 40.0
62 78 34 N-2 v2 -200 17.0 43.0|87 86 44 S= v6 420 28.0 32.0(43 41 3¢ N-1 &7 -100 14.0 46.0
63 72 44 N-2 vA -200 17.0 43.0(89 84 34 S+3 #A 230 16.0 44.0|47 46 4v N-1 *A -100 14.0 46.0
3 1 54S-3 vQ 3000 9.0 510 3 1 24S+3 vT 200 120 48.0|61 76 3¢ S-1 v4 -100 14.0 46.0
7 6 3NN-3 vA -300 9.0 51075 68 24 S+3 vT 200 12.0 48.0|63 72 3v N-1 ¢ A -100 14.0 46.0
12 2 3NN-3 v2 -300 9.0 51.0(77 65 34 S+2 vJ 200 120 48.0|91 85 3¢ S-1 v4 -100 14.0 46.0
52 42 3NN-3 v2 3000 9.0 51.0(12 2 34 S+l vT 170 6.0 54.0(10 8 24 V= *2 -110 8.0 52.0
64 74 4% S -3 vQ -300 9.0 51.0(52 42 34 S+1 3 170 6.0 54.0|77 65 34 V= *2 -140 6.0 54.0
67 73 3NN-3 v2 -300 9.0 51.0(67 73 24 S+2 vT 170 6.0 540| 9 4 3¢S-2 *] -200 3.0 57.0
66 71 3NN-4 &5 400 2.0 58.0(10 8 44 S-1 +6 -50 10 59.0(64 74 3¢DS-1 &2 -200 3.0 57.0
30 28 3vDV= 4A -730 0.0 60.0(90 88 44 S-1 v8 -50 10 59.0| 7 6 3¢DN-2 6 -500 0.0 60.0
- 81 266 - 81 266 - 81 26.6
13 « D108 14 «ED3 15 « DKn1042
Nord v10 Ost v Kn5 Syd v KD9
Alla ¢ Kn6542 Ingen + EKD862 NS + DKn108
#DKn92 #65 #Kn
443 « EK5 4972 465 49876 «E
v62 v Kn9874 vEKD10 v 98643 v642 v853
¢D1093 +¢87 ¢ Kn5 +1043 ¢E76 ¢K53
#E7643 #K105 #Kn943 #D107 #KD5 #E109764
& Kn9762 « KKn1084 & K53
v EKD53 v72 v EKn107
¢ EK 97 ¢ 942
8 #EK82 #832
Par Kontr ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
24 22 44 S= v6 620 520 80| 1 10 44 S+1 vA 450 49.0 11.0(76 65 54DO-2 &3 300 60.0 0.0
28 27 44 S= *T 620 520 80| 4 2 44S+1 YA 450 49.0 11.0| 8 7 3v N+l #A 170 58.0 20
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29 25 44 S= v6 620 520 80|12 3 44 S+1 vA 450 49.0 11.0(21 30 34 N= &A 140 53.0 7.0
32 23 44 S= a4 620 520 8.0|21 30 44 S+1 vA 450 49.0 11.0(31 26 34 N= *A 140 53.0 7.0
44 42 44 S= v6 620 520 8.0(29 25 44 S+1 vA 450 49.0 11.0|44 42 34 N= &A 140 53.0 7.0
48 47 44 S= &A 620 520 8.0|31 26 44 N+1 vA 450 49.0 11.0(49 45 34 N= &A 140 530 7.0
61 75 44 S= &A 620 520 8.0|41 50 44 S+1 vA 450 49.0 11.0(48 47 24 N= *A 110 45.0 15.0
78 66 44 S= v6 620 52.0 8.0(49 45 44 S+1 vA 450 49.0 11.0(61 75 24 N= v3 110 45.0 15.0
89 85 44 S= v6 620 520 80|61 75 44 S+1 vA 450 49.0 11.0(68 74 24 N= v5 110 45.0 15.0
4 2 1e S+4 v6 200 42.0 18.0|63 71 44 S+1 vA 450 49.0 11.0(84 82 24 N= v8 110 45.0 15.0
49 45 24 S+1 v6 140 36.0 24.0|76 65 54 S= v5 450 49.0 11.0|12 3 440-1 43 50 35.0 25.0
64 73 2v S+1 a4 140 36.0 24.0(91 86 44 S+1 vA 450 49.0 11.0|41 50 44 0O-1 43 50 35.0 25.0
76 65 34 N= v3 140 36.0 24.0|24 22 44 S= vA 420 33.0 27.0(51 46 44 0-1 &K 50 35.0 25.0
84 82 24 S+1 +9 140 36.0 24.0|51 46 44 S= vA 420 330 27.0(63 71 440-1 s K 50 35.0 25.0
91 86 24 S+1 v6 140 36.0 24.0|52 43 44 S= vA 420 33.0 27.0(67 72 44 0-1 &K 50 35.0 25.0
11 6 24 S= v6 110 27.0 33.0|89 85 44 S= vA 420 33.0 27.0|81 90 44 0O-1 &K 50 35.0 25.0
21 30 24 S= v6 110 27.0 33.0|84 82 34 S+3 vA 230 28.0 320| 1 10 44 N-1 &A -100 27.0 33.0
41 50 24 S= v6 110 27.0 33.0|32 23 34 S+2 vA 200 25.0 35.0(24 22 44 N-1 &A -100 27.0 33.0
77 62 24 S= v6 110 27.0 33.0|64 73 1a S+4 vA 200 250 350 4 2 3#0= a3 -110 16.0 44.0
67 72 2v O-1 *A 100 22.0 38.0(67 72 3¢ N+4 &T 190 210 390(11 6 3#0= 43 -110 16.0 44.0
88 87 INO= *T -90 20.0 40.0(81 90 4¢ N+3 46 190 21.0 39.0(28 27 34 0= 43 -110 16.0 44.0
9 5 2¢ N-1 s A -100 16.0 440 9 5 2¢ N+3 3 150 18.0 42.0|29 25 3# 0= &K -110 16.0 44.0
68 74 44 S-1 v6 -100 16.0 44.0(77 62 3v V-1 *A 50 16.0 44.0(32 23 34 0= +9 -110 16.0 44.0
81 90 44 S-1 v6 -100 16.0 44.0|28 27 64 S-1 vA -50 11.0 49.0|52 43 34 0= 43 -110 16.0 44.0
8 7 44 S-2 v5 -200 7.0 53.0(48 47 54 S-1 vA -50 11.0 49.0|64 73 3# 0= a5 -110 16.0 44.0
12 3 44 S-2 v6 -200 7.0 53.0(68 74 44 S-1 vA -50 11.0 49.0|78 66 3% O= 45 -110 16.0 44.0
31 26 44 S-2 v6 -200 7.0 53.0(88 87 64 S-1 vA -50 11.0 49.0|89 85 3 0= 43 -110 16.0 44.0
51 46 44 S-2 v6 -200 70 53.0(11 6 64 S-2 vA -100 40 56.0| 9 5 320+1 3 -130 4.0 56.0
52 43 44 S-2 +9 -200 7.0 53.0(44 42 6NN-2 v2 -100 4.0 56.0|88 87 44 O= s K -130 40 56.0
63 71 44 S-2 v6 -200 7.0 53.0(78 66 64 S-2 vA -100 40 56.0(91 86 44 0= &K -130 40 56.0
1 10 44 S-3 v6 -300 0.0 600 8 7 6NDS-3 vA -500 0.0 60.0(77 62 44DN-1 #A -200 0.0 60.0
92 - 40.2 92 - 40.2 92 - 40.2
16 «D 17 45 18 « KD7
Vast vED53 Nord vD2 Ost v 1096
ov 4653 Ingen ¢+ ED7532 NS +95
&KD973 £#Kn763 £E9832
4 Kn6543 4 E82 4Knl084 4 EK62 4652 4 E9843
vK v 97642 v EKn8743 v96 v K43 v EKn8
¢ K42 + DKn7 + 10 + Kn64 ¢ KKn874 ¢ 1032
&E852 »64 &KD #E1085 K7 #DKn
4 K1097 « D973 4 Kn10
v Kn108 v K105 v D752
¢+ E1098 + K98 + ED6
#Kn10 £942 £10654
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
25 23 3NS+1 43 430 58.0 20(21 28 3¢ N= v9 110 60.0 0.0(92 84 44 O-3 L] 150 60.0 0.0
61 74 3NS+1 LY 430 58.0 20|61 74 44 O-2 vT 100 56.0 40| 5 3 340-2 &5 100 58.0 20
81 88 3NS+1 a4 430 580 20(62 76 44 O-2 + K 100 56,0 40| 2 10 INV-1 &2 50 47.0 13.0
2 10 3NN= +Q 400 53.0 7.0|81 88 44 O-2 &9 100 56.0 40| 9 6 440-1 v5 50 47.0 13.0
62 76 3NS= *4 400 53.0 70| 2 10 4v V-1 a5 50 420 18.0(22 30 INV-1 &2 50 47.0 13.0
21 28 2NN+2 43 180 43.0 170 7 11 44 O-1 &2 50 420 18.0(42 50 INV-1 &2 50 47.0 13.0
27 31 2NN +2 v2 180 43.0 1701 9 6 4v V-1 45 50 42.0 18.0|49 46 3¢ V-1 +9 50 47.0 13.0
41 48 1IN S+3 43 180 43.0 17.0|22 30 4v V-1 45 50 42.0 18.0|61 74 44 O-1 v5 50 47.0 13.0
45 43 1IN S +3 43 180 43.0 17.0|32 24 4v V-1 45 50 420 18.0(62 76 34 O-1 v5 50 47.0 13.0
52 44 2N S +2 a5 180 43.0 17.0(45 43 44 O-1 +8 50 42.0 18.0|64 72 INV-1 &8 50 47.0 13.0
65 75 2N S +2 46 180 43.0 17.0(49 46 4v V-1 45 50 42.0 18.0|78 63 34 O-1 v6 50 47.0 13.0
68 73 2N S +2 45 180 43.0 17.0|52 44 44 O-1 &9 50 420 18.0(87 91 34 O-1 v6 50 47.0 13.0
89 86 INS+3 43 180 43.0 17.0|71 67 34 O-1 +8 50 42.0 18.0(12 4 Pass 35.0 25.0
77 66 3 N+2 4A 150 34.0 26.0|89 86 34 O-1 &2 50 42.0 18.0 (32 24 Pass 35.0 25.0
32 24 2NS= &5 120 32.0 28.0|92 84 44 V-1 *A 50 42.0 18.0|25 23 INV= &2 -90 32.0 28.0
12 4 2« N+1 ¢Q 110 29.0 31.0(87 91 4¢ N-2 v9 -100 30.0 30.0(21 28 24 O= &6 -110 27.0 33.0
49 46 24 N+1 7 110 29.0 31.0(27 31 24 O= + K -110 26.0 34.0(29 26 24 O= aJ -110 27.0 33.0
5 3 24V-1 &K 100 20.0 40.0|41 48 24 O= +8 -110 26.0 34.0(71 67 24 O= v5 -110 27.0 33.0
7 11 24 V-1 &K 100 20.0 40.0|82 90 2v V= 45 -110 26.0 34.0(77 66 24 O= v5 -110 27.0 33.0
22 30 24 V-1 &K 100 20.0 40.0|25 23 3v V= a5 -140 20.0 400( 7 11 34 O= v5 -140 17.0 43.0
42 50 24 V-1 +6 100 20.0 40.0|47 51 24 O+1 +8 -140 20.0 40.0(27 31 24 O+1 +6 -140 17.0 43.0
47 51 24 V-1 vA 100 20.0 40.0|65 75 3v V= 46 -140 20.0 40.0(45 43 34 O= &T -140 17.0 43.0
78 63 24 V-1 &K 100 20.0 40.0|29 26 34 O+1 +9 -170  12.0 48.0(47 51 24 O+1 ¥5 -140 17.0 43.0
87 91 24 V-1 &K 100 20.0 40.0|42 50 3v V+1 45 -170  12.0 48.0(52 44 24 O+1 &) -140 17.0 43.0
9 6 2&4N= &6 90 11.0 49.0(64 72 2v V+2 a5 -170 12.0 48.0|81 88 34 O= v5 -140 17.0 43.0
92 84 24 S= *A 90 11.0 49.0|68 73 24 O+2 +K -170 120 480| 1 8 INV+2 LX) -150 8.0 52.0
29 26 2NS-1 &5 -50 6.0 54.0(78 63 3v V+1 46 -170  12.0 48.0(41 48 1INV +2 &2 -150 8.0 52.0
71 67 3NS-1 &2 -50 6.0 540( 1 8 4v V= 45 -420 40 56.0[/89 86 2NO+1 ¥5 -150 8.0 52.0
82 90 2v N-1 s A -50 6.0 540 5 3 4v V= a5 -420 40 56.0(82 90 34 O+1 +6 -170 4.0 56.0
1 8 24V= &K -110 1.0 59.0|12 4 44 V= &6 -420 40 56.0|68 73 2NO+2 ¥5 -180 2.0 58.0
64 72 24 V= &K -110 1.0 59.0|77 66 4vyDV= 45 -590 0.0 60.0(65 75 3NO= v2 -400 0.0 60.0
85 - 29.3 85 - 29.3 85 - 29.3
19 4 E97 20 452 21 108
Syd v K84 Vast v DKn53 Nord v54
ov ¢ EK3 Alla + 1084 NS ¢ KD6432
&EKN63 £#Kn1042 D103
4 K1032 4865 & Kn9 « EKD873 4 D543 4 K976
v1097 v653 vK8642 vE7 vKD862 vE93
4954 410862 495 * K7 + 10 + EKn85
#K87 D54 #E975 #D83 #Kn98 #54
« DKn4 21064 & EKNn2
v EDKn2 v 109 v Kn107
¢ DKn7 ¢+ EDKNn632 +97
#1092 K6 #EK762
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
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6N N = 2 990 49.0 11.0 0-1 vT 100 56.0 4.0 34 S= a4 110 59.0 1.0
6N S = vT 990 49.0 11.0 0-1 vT 100 56.0 4.0 24 S +1 *T 110 590 1.0
6N S = *4 990 49.0 11.0 0-1 vT 100 56.0 4.0 34 V-2 &A 100 55.0 5.0
6N N = a2 990 49.0 11.0 0-1 vT 100 56.0 4.0 4y V -2 + K 100 55.0 5.0
6N S = vT 990 49.0 11.0 0-1 a4 100 56.0 4.0 3v V-1 aT 46.0 14.0
6N S = v7 990 49.0 11.0 S-1 a] -100 50.0 10.0 34 O-1 &K 46.0 14.0
6N N = a2 990 49.0 11.0 o= vT -140 48.0 12.0 34 0-1 SA 46.0 14.0
6N N = 2 990 49.0 11.0 O+2 vT -170  43.0 17.0 34 0-1 *A 46.0 14.0
6N S = a2 990 49.0 11.0 O+2 vT -170 43.0 17.0 34 O-1 & A 46.0 14.0
6N S = a2 990 49.0 11.0 O+3 ¢J -170  43.0 17.0 44 O -1 SA 46.0 14.0
6N S = 43 990 49.0 11.0 O+2 +A -170  43.0 17.0 34 O-1 *A 46.0 14.0
6N S = a2 990 49.0 11.0 2NO+2  +A -180 38.0 22.0 3% S-1 *T 36.0 24.0
3NN +3 *T 490 32.0 28.0 O+3 v9 -200 35.0 25.0 34S-1 *T 36.0 24.0
3N S +3 +5 490 32.0 28.0 O+3 vT -200 35.0 25.0 2NS-1 vK 36.0 24.0
AN S +2 a3 490 32.0 28.0 O+4 ¢A -230 32.0 28.0 24 O= & A 30.0 30.0
3N S +3 vT 490 32.0 28.0 3NV = v2 -600 30.0 30.0 24 O= SA 30.0 30.0
3N S +3 v7 490 32.0 28.0 0= vT -620 22.0 38.0 2y V= * K 30.0 30.0
5v S+1 a3 480 26.0 34.0 o= *A -620 22.0 38.0 3a V= aT 19.0 41.0
3N S +2 *4 460 21.0 39.0 o= a4 -620 22.0 38.0 34 O= &A 19.0 41.0
3NN +2 v3 460 21.0 39.0 0= vT -620 22.0 38.0 34 O= *A 19.0 41.0
3N S +2 48 460 21.0 39.0 o= *A -620 22.0 38.0 24 O+1 #A 19.0 41.0
AN S +1 43 460 21.0 39.0 o= vT -620 22.0 38.0 24 O+1  ¢9 19.0 41.0
3N S +1 43 430 11.0 49.0 0= v9 -620 22.0 38.0 24 O+1 #A 19.0 41.0
3N S +1 a3 430 11.0 49.0 SNO+1 +J -630 14.0 46.0 1a O+2 &A 19.0 41.0
BNN+1 48 430 11.0 49.0 40 O+1 o4 -650 8.0 52.0 3y V= aT 19.0 41.0
AN S = a2 430 11.0 49.0 40 O+1 T -650 8.0 52.0 34 O+1 &A 7.0 53.0
3N S +1 a2 430 11.0 49.0 4a O+1  ¢A -650 8.0 52.0 3v V+1 *+K 7.0 53.0
3N S +1 43 430 11.0 49.0 44 O+1 o7 -650 8.0 52.0 lv V +3 aT 7.0 53.0
2% S +4 vT 170 40 56.0 40 O+1 9T -650 8.0 52.0 34 O+1 &A 7.0 53.0
6N S -1 a3 -50 1.0 59.0 BNO+2 ¢Q -660 2.0 58.0 3NS-4 vK 2.0 58.0
5NS-1 43 -50 1.0 59.0 44 O+2 ¢A -680 0.0 60.0 3¢DN-2 &5 0.0 60.0
35.0 35.0 35.0
« D32 & EKKn7 & KD7
v 832 v32 v 753
¢+ ED2 + K10864 +54
D976 &K4 #K7653
4Kn109 65 4 D62 41098 4 EKn1042 4983
vEKn95 v1076 v EK4 v D876 v- v EDKNn10986
¢ K1083 ¢ Kn65 ¢+ ED7 +53 ¢ EK102 .7
#EK #Kn10842 #Kn1082 &ED76 #DKn102 498
« EK874 4543 465
v KD4 v Kn1095 v K42
¢ 974 ¢ Kn92 + DKn9863
#53 #953 *E4
Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
INV-4 43 400 500 10|66 75 4v V-2 aA 200 60.0 0.0(29 28 5NO-4 +Q 200 60.0 0.0
3NN= +5 400 500 10|65 73 3NV-1 +6 100 58.0 20|23 22 3NV-2 v3 100 540 6.0
INV-3 a2 300 56.0 40| 1 11 2¢ N-1 T -100 55.0 5.0|26 32 54 V-2 +5 100 54.0 6.0
4% O -2 4 A 200 540 6.0(87 85 2¢ N-1 aT -100 55.0 5.0(27 25 44 V-2 +5 100 540 6.0
24 S+2 SA 170 47.0 13.0|26 32 2v V+1 &K -140 520 8.0(64 78 4v O-2 46 100 540 6.0
24 S +2 SA 170 47.0 130 3 2 2NV +1 *4 -150 40.0 20.0|67 77 44 V-2 &3 100 54.0 6.0
34 S+1 SA 170 47.0 13.0| 6 12 2NV +1 4 A -150 40.0 200 4 10 44 V-1 v3 50 38.0 22.0
24 S+2 &) 170 47.0 13.0|24 30 2NV +1 a A -150 40.0 200| 6 12 4v O-1 +Q 50 38.0 22.0
24 S+2 SA 170 47.0 13.0(27 25 2NV +1 *4 -150 400 200 9 8 4v0O-1 &A 50 38.0 22.0
24 S +2 SA 170 47.0 13.0|43 42 2NV +1 4 A -150 40.0 20.0(21 31 44 V-1 +6 50 38.0 22.0
INN+2 &2 150 40.0 20.0|46 52 1INV +2 *4 -150 40.0 20.0(24 30 44 V-1 +5 50 38.0 22.0
34 S= &A 140 30.0 30.0|49 48 2NV +1 s A -150 40.0 20.0(44 50 4v O-1 &A 50 38.0 22.0
24 S+1 SA 140 30.0 30.0|61 72 2NV +1 *4 -150 40.0 20.0|49 48 4v O-1 +Q 50 38.0 22.0
24 S+1 SA 140 30.0 30.0(63 76 2NV +1 +6 -150 40.0 20.0(61 72 44 V-1 +5 50 38.0 22.0
24 S +1 »A 140 30.0 30.0|81 91 INV+2 s A -150 40.0 20.0({63 76 5v O-1 &A 50 38.0 22.0
34 S= vA 140 30.0 30.0|84 90 2NV +1 s A -150 40.0 20.0(87 85 4v O-1 SA 50 38.0 22.0
24 S+1 SA 140 30.0 30.0(44 50 1INV +3 +6 -180 27.0 33.0(89 88 4v O-1 +Q 50 38.0 22.0
24 S+1 »A 140 30.0 30.0(89 88 INV+3 s A -180 27.0 33.0| 1 11 24 V+1 &3 -140 23.0 37.0
24 S+1 SA 140 30.0 30.0(71 68 34 N-2 +5 -200 24.0 36.0(65 73 34 V= +5 -140 23.0 37.0
24 S+1 SA 140 30.0 30.0|64 78 2v S-3 &J -300 22.0 38.0(74 62 34 V= +5 -140 23.0 37.0
INS +1 +3 120 17.0 430 7 5 24 N-4 v7 -400 19.0 41.0(81 91 34 V= &6 -140 23.0 37.0
INN+1 &2 120 17.0 43.0(74 62 34 N-4 48 -400 19.0 410 3 2 4v0O= +Q -420 12.0 48.0
INN+1 & 120 17.0 43.0(47 45 INDV+2 ¢4 -580 16.0 44.0| 7 5 44 V= *4 -420 12.0 48.0
INN+1 &2 120 17.0 43.0| 4 10 3NV= & A -600 10.0 50.0 (43 42 4v O= +6 -420 12.0 48.0
24 S= &K 110 11.0 49.0(21 31 3NV= +8 -600 10.0 50.0 (47 45 4v O= SA -420 12.0 48.0
24 S= aJ 110 11.0 49.0(23 22 3NV= a A -600 10.0 50.0(66 75 4y O= 46 -420 12.0 48.0
INV-1 &6 100 7.0 53.0(41 51 3NV= & A -600 10.0 50.0 |71 68 44 V= *4 -420 12.0 48.0
24 O -1 4 A 100 7.0 53.0|86 92 3NV= 4 A -600 10.0 50.0(84 90 4y O= SA -420 12.0 48.0
44 S-1 &) -50 40 560 9 8 3NV+1 a A -630 2.0 58.0|41 51 54 V= +5 -450 2.0 58.0
44 S -2 aJ -100 2.0 58.0(29 28 3NV +1 +8 -630 2.0 58.0(46 52 44 V+1 +5 -450 2.0 58.0
2y V= a2 -110 0.0 60.0(67 77 3NV +1 s A -630 20 58.0(86 92 44 V+1 v3 -450 2.0 58.0
21.3( - 82 21.3( - 82 21.3
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